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TF gemL e § fefated § 9
H-41 faQrear 72 3E AR ' ?

1) SEn Ride
2) 3iq forEmar
3) U= FHAA
4) TR R

[ Level-3/1310]

Which type of education would be
appropriate for socially deprived
children ?

1) Informal education
2) Special education
3) Inclusive education

4) Religious education

Which of the following statement is
correct regarding adolescence,

under Erikson's Psycho-social

development theory ?

1) Ego-identity is a positive
psycho-social aspect.

2) Ego-identity is a negative
psycho-social aspect.

3) Ego-identity is a neutral
psycho-social aspect.

4) Ego-identity is not just a
psycho-social aspect.

Which of the following characteristic
is not seen in a creative child ?

1) Divergent thinking

2) Extreme curiosity

3) High imaginations

4) Conventional thoughts

P.T.O.
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4) ITHD

[ Level-3/1310]

GET IT ON
Google Play

4. Which of the following characteristics

does not have a positive effect on the
process of socialization ?

1) Socially approved behaviour
2) Playing approved social roles
3) Development of social attitude

4) Development of social
prejudices

Vygotsky's 'Zone of Proximal
Development' refers to :

1) What the <child can do
independently

2) What the child can't do
independently

3) What the child can do with
guidance of knowledgeable
person

4) What the child can't do even
under guidance of
knowledgeable person

If a learner does not achieved the
expected performance, what type
of testing is done to find out the

reason ?

1) Formative
2) Diagnostic
3) Remedial

4) Summative
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diftg &t B, afch saer o fedr o
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e & U & ge ot fhEs
/T e R T B 7

1) THo Hio Tho 2005
2) Udo Fﬁo éo 3o éTo
3) I
4) FFE®
8. 3is T fomw # fhe U & Raad
A § ?
(@) X & MHR ¥ qRaad
(b) SRR & g # qReA
(c) YU Tl &l foeiia
(d) A faQiarett 1 AR
7& T F T BT
1) (), () W (c)
2) (a), (b) W (d)
3) (a),(c) W (d)
4) (a), (®), (c) W (d)

9. Ffafag & § dF-a1 Fa FREROT
& AT R GHRIEE T919 W 787

T ?

1) ARTERIT dEq & FdeR & &
FHC B

2) WM HEeW & FGRR  H
ffea fRem o™ & &

3) ARTROmT HEew % FGeR H
IR SIS

4) T HEW & FGRR B
T ST ©
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"Inclusion is not confined to the
disabled but it also mean no
exclusion of any child."

This meaning of inclusion in
education has been clarified by :

1) NCF 2005
2) NCERT

3) UNESCO
4) UNICEF

Which type of changes occur in
growth and development ?

(a) Change in body size

(b) Change in body proportion
(c) Disappearance of old features
(d) Acquisition of new features
Choose the correct code :

Code :

1) (@), ®) & (c)

2) (@), D) & (d)

3) (@,() & (d)

4) (@, ®), (©) & (d)

Which of the following statements
does not explain the positive
impact of motivation on learning ?

1) Motivation impairs learning
behaviour

2) Motivation provide definite
direction to learning behaviour

3) Motivation energizes learning

behaviour
4) Motivation makes learning
behaviour selective
P.T.O.
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1) I gEdHs 8 2

2) ¥ TG B ©

3) I Sifad @ P [T SawT® B §
4) gﬁaq?ﬁa%wﬁaﬁrﬁwﬁﬁﬂﬁ
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11.

12.
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Match the stages of morality with
their level, under the Moral
Development theory of Kohlberg :

Stages of Morality Level of
Morality

(@) Good interpersonal I
relations

(b) Individualism and I
exchange

(c) Social contracts and II1
individual rights

(d) Universal principles
Choose the correct code :
Code :

@ ® (@© @
1) 1 III II I
2) III II Im 1
3) II 111 I II
4) 11 I Im I

When the learner learns a task
automatically, without any desire
or purpose, then it is called :

1) Massed learning

2) Whole learning

3) Partlearning

4) Incidental learning

Which of the following statement is

not true regarding biological

motives ?

1) They are universal

2) They are inborn

3) They are essential to survival

4) They are not related with
homeostatis in the individual
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13. Frafafed & & @9-@ e g
&R AT T H AR § 7

() forad

(b) HRaH

(c) AR

(d) s

7& FE F TIT BN :
%< -

1) (a), (b) W (d)

2) (a), (b) W (c)

3) (a),(c) T (d)

4) (a), (), (c) W (d)

14. F=fafad & & @@ H99 IR
qlerl & ded § w9 78 8 7

1) Todeiss & 99 TN J0e9 Th
fereares gieror B

2) qMfs® RO qafRe ot
qfed a1 TER & 8 g

3) ST A MwEE gl el
H G|

4) FgmiEh TRl H OgRE B A
el wd oTpicRl BT B &
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Which of the

examinations are the basis of

following

continuous and comprehensive

evaluation ?
(a) Written

(b) Oral

(c) Behavioural

(d) Practical

Choose the correct code :
Code :

1) (@), ®) & (d)

2) (a), () & (c)

3) (a), (c) & (d)

4) (a), (b), (c) & (d)

Which of the following statement is
not correct in reference to

intelligence tests ?

1) Alexander's Pass along test is a

performance test.

2) Verbal test can be either

individual or group.

3) Illiterate people cannot do

performance test.

4) In non-verbal tests intelligence
is measured through pictures

and figures.

P.T.O.
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15. frfefaa & & d9- JH A & 15. Which of the following pair is not

Promar ﬂ@ frsid & o ﬂ@ @ correct regarding elements of
dd T 39 AOM 3 dey § TR intelligence and their dimension,
T %? under the Three Dimensional

Intelligence theory of Guilford ?

Elements of Dimension
g@f % @ SN Intelligence
1) IHE IS 1) Unit Product
2) G fshar 2) Cognition Operation
3) Hedih fspar 3) Evaluation Operation
4) gy ferrerereg 4) Relations Content

16. frfefag & @ @9-d 9@ *f=Ea 16. Which one of the following is not a

HARFM gRehol Hl TqE Qv 78 key feature of child centred

g7 learning approach ?

1) TRE HeEe & oEEr 1) Meaningful learning

opportunities

2) Uehdl 78T T 2) Single learning pathway

3) Hdad W 3) Continuous assessment

4) {™ fareror |fdT| 4) Accessible learning settings
17. 990 & AR, N Hie| @l 11. According to Bandura, which is not

HN-G SraHeeT Uk 78 & ? the interrelated processes of

observational learning ?

1) SAIYEIHS BIEDIIY 1) Attentional Processes

2) gIUMHD BIEDIY 2) Retentional Processes

3) RS TR 3) Motivational Processes

4) DIEEI e P 4) Conjunctional Processes

[ Level-3/1310]
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4) T HIE (3F5H) qeH

uh ot fRitaar St SR
HIAT B AFE Pl TATIT B &€ ¢
1) ehagar 2) feenfter
3) fewifrmr  4) fedifafemn

WS & Hlneh G i @

Ul SRSl & Fel hH B =FET

HIPT

1) gEEer — i ggEmEeEr -
HAIRME - TR -
EREIE-RIEIS)

2) TEEEl — FEEEe — [T
JgEER —  SEEAEer -
RCICEI]

3) gEEEl — TEEET - [
qgEER > eIl -
ERRIE-RICIS)

4) FIFERA - EEE -
qEEe — SEAEgEE — T
BEIEIEIS|
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According to Bandura's Social
Learning theory, what is it called
when a person learns the same
behaviour by observing and
repeating the behaviour of others ?
1) Adaptation

2) Self-observation

3) Modeling

4) Efficacy expectation

Which sub-component is not included
in componential intelligence under
the Sternberg Triarchic Theory ?

1) Meta component

2) Experimental component

3) Performance component

4) Knowledge acquisition component

A learning disability that affects the
acquisition of arithmetical skill is :
1) Dyscalculia 2) Dysgraphia
3) Dyslexia 4) Dysmagnisia
Choose the correct sequence of
the five stages of Freud's Psycho-
sexual development theory :

1) Oral stage — Phallic stage —
Latency stage — Anal stage —
Genital stage

2) Anal stage — Latency stage —
Phallic stage — Genital stage
— Oral stage

3) Oral stage — Anal stage —
Phallic stage — Latency stage
— Genital stage

4) Latency stage — Anal stage —
Oral stage — Genital stage —
Phallic stage

P.T.O.
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22. Yg@@ & 9 OHEI?FT R 22. According to Pavlov's Classical

fsia & SINKIRE (SR IECAG] \ﬂfﬁﬁlﬁ Conditioning theory of learning,
SEIUH B ERﬂ?ﬁ?b_{'UT T HY-GT BB which temporal sequence
Y GE B Gaifes gead HEm ? presentation of natural and
conditioned stimuli will most affect
learning ?
1) G HHID 1) Simultaneous
2) fowifaa 2) Delay
3) Gaa 3) Trace
4) GLTH 4) Backward
23. O™ & deeiers foer Risid @ 23. In which stage of Piaget's Cognitive
fpe  ofaem H GTEKf i @ Development theory does the
ARG B e faeiea & Sl ability of abstract thinking and
g7 generalization develop ?
1) KECEILE 1) Sensory motor
2) Yd-HishaTeh 2) Pre-operational
3) ﬁ—ﬁﬁﬂ?ﬁiﬁ 3) Concrete-operational
4) SMroenRep-wfshareen 4) Formal operational
24, UiqweTell fEnfRt & fow FrefoRad 24. Which of the following educational
T q - s Fawen 7@ @ T arrangements shouldn't be made
ey ? for talented students ?
1) @ ooiee & & oTaax 1) Opportunities for independent
project work
2) I 2) Acceleration
3) SUARIHH e 3) Remedial teaching
4) RECRIEIRE 4) Enrichment program

[ Level-3/1310]
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freifofeg & ¥ 9-a1 go@sh fwem
H TF sid 78 & 7

1) TRl & i

2) T @ f=ia

3) fafdear &1 Sis9 79 &1 osid
4) T & R & f&sia
frfafag § @ fF-a1 d@ Jafs

Rreraiell & orgaR Reor & gwedq
7&f o ?

1) foeniEl & s=1 998
2) JARTH TR
3) UIgIshH H R

4) TaaRigl o avae @1 a9

fafaree  omasEeRdTAl A T=E
AEPEN B QW FE H Jem
T T g 78 o

1) [S91 4S99 &% fOened | masr &+

2) gau g glaEmd sem B

3) I T STETHar B TEAMI
Ud eI § el @

4) 32 HAETH HEEd Qa8 G
HET
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Which one of the following is not a
principle of inclusive education ?

1) Principle of segregation
2) Principle of cooperation
3) Principle of celebrating diversity

4) Principle of right to education

Which of the following way does
not support the teaching according
to individual differences ?

1) Large group of students
2) Individualized instruction
3) Curriculum adaptation

4) Knowledge of student's abilities

Which is not a role of educational
institutions in addressing the needs
of children with special need ?

1) Admission to school without
discrimination

2) Provide
infrastructural facilities

accessible

3) Identify their special needs

and exclude them from
mainstreaming
4) Provide necessary support
services
P.T.O.
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28. fr=fafad & @ d9-91 &9 e 3

29.

30.

g § o 78 B ?

1) [9FE IREET T ST Hw
3@ B

2) URR @ & g | a1 Al
foeprg atfres iR 2 B

3) fomm fox @ W & fRsm & om
T Bl

4) fopE =g o ¥ B # SR
T Bl

THEs e & Bemrh Rsia has
/T ufquifed fehar ar ?

1) iy, X Td Rrres
2) WX ug forent

3) WHBAT TG &R

4) odel, Sfed Td g

“HMIHTT H o1 & g gee
¥ gRUFadr ST | & 98
g fhes a o & i R O?

1) S St
2) We
3) R
4) BWH

28.

29.

30.
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Which of the following statement is

not correct in context of

development ?

1) Development is the product of

maturation and learning.

2) Later development is more

critical than early development.

3) Development proceeds from
head to foot.

4) Development proceeds from
central axis to extremities.

The three dimensional model of

the inclusive education

propounded by whom ?

1) Giriffith, Cooper and Ringlaben
2) Gartuer and Lipsky

3) Kauffman and Hallahan

4) Levenski, Davis and Hooper

"Socialization means attaining of
maturity in social relationships."
This definition of socialization is
given by whom ?

1) John Dewey

2) Garret

3) Sorenson

4) Hurlock

[ Level-3/1310]
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31.

32.

33.

34.

fqQwer & deg # dHi-ar @é gatad

7ET T ?

1) ARG - |51 9 i &k

2) UiEaH - faQier & IavEen

3) UREH - JorErE Qe

4) Y - G § FEa HEaEs
El

g foecy # =-g™ & TE Y 9
7 77

1) Sf - &@, ael - gt

2) WY - &9, §Y - &d

3) IR - =&, FIERT - ASl
4) HR - Hidl, g - A

HI-91 H @@ 78 © 7
1) s - am I
2) HK® - qa9d 9=
3) faast - W 9=
4) VA - ke o=

frefafeg & @ 59 faed &1 9=
wfy-faees # e @ @ § 7

1) HIMET = FA + AEH

2) Y = amr + ST

3) AMHIN = T h + 0

4) TgH = Y + A

[ Level-3/1310]

35.

36.

31.

38.

fp faheq & WHE W gl
A H ISET 78 & °

1) QST SO
2) dHsaTd, RS
3) YA, HarEd
4) UERR, qgqufa

frg fabeq #1 = ‘o ITEd A
T 7&f = ?

1) M

2) it

3) I

4) IFER

e # 9 e 9T @ 9= faeee
Tt 9 fafa § °
1) Gedtad, siferr
2) ST, FHHEL
3) Regd@R, ST

4) TSR], B

EaE 9|l ® d9g ¥ -
fereq ofgfaT @ °

1) I=AT - fEHRT, rgdiy], wede
2) &S - G, JuHl, A&

3) T=_A - TNEN, JAge, QU
4) T - FERAICH], ST, YR

P.T.O.
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39. AN e d e faseq & a+ff 9=
g E 7
1) T, @R
2) TG, SEY
3) e, e
4) RfE, T

40. ‘TR TMHl ¥ 9RG H AR BT’
ST ad § @ifed I HAM R
1) SHiFdares HsM qeT Sicaraeh G5l
2) Siiadreds G qo1 AgarEs ds
3) Hiddrash Gsl T Afkiars ds
4) HEqED G AT Alddreh G5

41, = ¥ 9 59 qeR B A €6 78

g7

1) T W ) T BN - SR
B

2) Y F T TX A - foFT O™
% P A9 T BT AT

3) T e UMl dNT - A &R
S SIS

4) FAM 9 qR a0 - feet @
g Gl

42. a1 & HdY H ofgfaq e T

1) & & AR W B6a & ‘dHie
wd ‘oTEHE & 9T AW S S

2) gﬂﬁﬁ@ﬂéﬁﬁﬁﬂﬁ%ﬁﬁ?ﬁ@?ﬁ
[

3) T g7 @ & foramn s’ I
qrR # RO AT SgE &8 o

4) ‘SiogEr, ‘ASAA’ T U
AT BRa % SRR B

43.

44.

45.

GET IT ON
Google Play

M & ey ¥ PN-a1 B FET

g ?

1) T % MR W 9999 & B8
AT

2) ‘B JA FY  ACEIIEE
I I

3) ‘TEVEEE AW & IR e AW
ST &

4) FrG gM @ R & UG e
[ B B aEg B A A R
39 FerEaras 9dm ®ed 2

fre faeq 4 Rodaeis 3= ommT
T ?

D 99T - Jadd

2) T - HENE

3) &9 - ad

4) M - WE

THT ® MU THA 9= P Gey H

ST T T
1) S & H g | IFRE T & -
3y

2) Frad =18 Bz 7 & - Ay
3) 4R § oM Al HAFT - A

4) N HoE WM P fow Sk -
R
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[15/A]

46.

41.

48.

49.

Fill in the blank with the correct
option :

Note it down ........... you should
forget it.
1) that 2) Dbecause of

3) till 4) lest

Choose the correct option that
gives the meaning of the given
idiom :
Spill the beans
1) increase work
2) face agreatloss
3) toleak asecret
4) segregate

Fill in the blank with the correct
option :

The Pak army turned hostile .........
ISIS.
1) to
3) at

2) for
4) with

Choose the correct passive of the
given sentence :

Please give me some more time.

1) Some more time might please
be given to me.

2) Some more time may please
be given to me.

3) Some more time could please
be given to him.

4) Some more time should please
be given to him.

[ Level-3/1310]

50.

51.

52.

Which of the following options
express the correct meaning of the
sentence given below ?

No sooner did I reach the college
than the bell rang.

1) The sooner I reached the
college the earlier the bell
rings.

2) I reached the college and the
bell was rang after.

3) Although I reached the college
the bell began to ring.

4) As soon as I reached the
college, the bell rang.

Change the narration :

He said, "What a charming sight !"

1) He exclaimed with joy that it
was a very charming sight.

2) He exclaimed with joy that
what a charming sight it is !

3) He told with joy that that is a
charming sight.

4) He said to me what a charming
sight it is !

Fill in the blank with the correct
form of the verb :

a lot of calls today.
1) had have
2) hashad
3) have had
4) had had
P.T.O.
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[16/A]

53. Which of the following sentences is
the correct option to express a
probable condition ?

1) If I were a bird, I would fly to
you.

2) If you touch a live wire, you
will get a shock.

3) If you will read this book, you
will learn grammar.

4) IfI had reached in time, I could
have saved her.

54. Choose the part of the sentence
that is grammatically incorrect :

He thought / he will be able to do /

A B

whatever he wanted / with his job.
C D

1) A 2) B

3) C 4) D

55. Choose the part of the sentence
that is grammatically incorrect :

The Jews were / most reluctant /

A B
to contribute / in the Palestinian
cause.
C D
1) A 2) B
3) C 4) D

56. The word 'slither' means :
1) lick
3) hinder

2) venomous
4) slide

51.

58.

59.

60.

GET IT ON
Google Play

Fill in the blank with the correct
form of verb :

WhenIlast ............. her, she was
deeply involved in debt.

1) have met 2) met

3) has met 4) did met

Fill in the blank with the correct
option :

How did the thief ...... the padlock.
1) open

2) opened

3) had opened

4) had been opening

Fill in the blank with the correct
'Modal Auxiliary' :

............. you mind lending me
your pen ? (Request)

1) Should 2) Ought

3) Would 4) Must

Arrange the following jumbled
options in the correct order and
then choose the correct option :

(A) is heartening
(B) is going abroad
(C) the news

(D) that she

1) C,D,B,A

2) D,A,C,B

3) D,C,B,A

4) D,C,A,B

[ Level-3/1310]
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RS QdT, diihe SRl el 9T S U9 IREIM / QUANTITATIVE APTITUDE,

REASONING ABILITY AND G.K. & AWARENESS

fraer : fefafad gl & SR 39 & e @98 S faske g

Direction : Answer the following questions by selecting the most appropriate option.

61. I A 4 RBX & I WX IO f&em
# R oAl Je F@ @l ©, ol
SHS 919 B H R B

1) I3
2) UltEH

3 T
4) IR-UIRTH

62. T% A 20 [l g0 & &I & e
¥ uF gue # qur I g0 H@ AW @l
footg s & 2 9@ & @@ O F,
@ AT ST A9 B A ®

1) 10 fH1/=0er
2) 12 fHHI/a9e
3) 13 fHI/aven
4) 15 Al guer

63. 15 Fidl & TP H 7 Ak

[ Level-3/1310]

61.

62.

63.

If A stands on his head with his
face towards North, in which
direction will his left hand point ?

1) North-East
2) West

3) East

4) North-West

A boat goes 20 km downstream in
one hour and the same distance
upstream in two hours. The speed
of the boat in still water is :

1) 10km/h
2) 12 km/h
3) 13km/h
4) 15km/h

In a group of 15 people, 7 read
Hindi, 8 read English, while 3 of
them read none of these two. How
many of them read Hindi and
English both ?

1) 0 2) 3
3) 4 4) 5

P.T.O.
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64.

65.

66.

61.

TF Fem § 35 foEnii H, A & w®N
9 9 7d W U@ B & WM IW q
oF WM W & T C & &N 37 Nl
H O AT HE, A C & W AH
He-AT B ?

1) odf
2) 108t
3) 114
4) 128t

Ueh %= e A § 'CEG' &l ‘TSR’
qg FH]' & 'QPO' for@m ofem 8, af
TH @AM AW H OIRKM' @ femr
SR

1) NOP

2) NOL

3) NMK

4) NML

Rl EAML ¥ fhaq orfe o= 913
ST 9 B 7

1) 1

2) 2

3) 3

4) 4

uh fafa Sgys d aiie Hv
& BT B 7:2 8, @ 9
TS A TSl dH WA B

1) 7 2) 8

3) 9 4) 11

[ Level-3/1310]

64.

65.

66.

61.

GET IT ON
Google Play

In a class of 35 students, A is
placed T7th the bottom
whereas B is placed 9th from the

from

top and C is placed exactly

between these two. What is A's
position from C ?

1) 9th
2) 10th
3) 1lth
4) 12th

In a certain code language 'CEG' is
written as "TSR' and 'FH]J' is written
as 'QPO!', then in the same code
language 'IKM' is written as :

1) NOP
2) NOL
3) NMK
4) NML

How many meaningful words can
be formed with the letter EAML ?

1) 1
2) 2
3) 3
4) 4

The ratio of an interior angle to the
exterior angle of a regular polygon
is 7 : 2. The number of sides of the

polygonis:
1) 7 2) 8
3) 9 4) 11
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69.

10.

11.
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frfafed @& S & SFET 0
ST I
2,3, 10, 15, 26, ?
1) 33
2) 34
3) 35
4) 36

T A BN TF o B T 8 g9 H,
T B T 1 dF P I 6 gUC F
A o HhaT 21 IR AT A B T
Y 2 g9¢ & U @iem & 99E T
A P F< FK A Y, @ 7@ B W
ST & e AT T ?

1) 2 g2 ¥

2) 2% g9 §

3) 3 gwe d

4) 3% g {

gfe forer ffdea Yot & 38 « 15 = 32,
62 %91 =7 qUT 74 81 = 29 &,
G Yed § 47+33 F A B :

1) 40
3) 38

2) 41
4) 53

g 17 RE=R, 2002 H qFER A,
o 22 RE=R, 2004 #H HF-Ar R&H
oqr ?

1) War

2) e

3) R

4) TR

[ Level-3/1310]

68.

69.

10.

11.

GET IT ON
Google Play

[19/A]

Find the next term of the following
number series :
2, 3,10, 15, 26, ?
1) 33
2) 34
3) 35
4) 36

Pipe A alone can fill a tank in 8
hours. Pipe B alone can fill it in 6
hours. If both the pipes are opened
and after 2 hours pipe A is closed,
then pipe B will fill the tank in :

1) 2hours
2) 2% hours
3) 3hours
4) 3% hours

In a certain pattern, if 38 * 15 = 32,
62 * 91 = 7 and 74 % 81 = 29, then
in the same pattern the value of
47 %« 33 is:

1) 40 2) 41
3) 38 4) 53
If it was Saturday on 17th

December, 2002, what was the day
on 22nd December, 2004 ?

1) Sunday
2) Saturday
3) Monday
4) Tuesday

P.T.O.
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[20/A]
72. o) T SFET UE R 12. The next of the series is:
Z1A, X2D, V6G, T21], ? Z1A, X2D, V6G, T21], ?

1) R8IM 1) R8TIM
2) R8IN 2) R8IN
3) R88P 3) R88P
4) R88M 4) R88M

73. 3OS qoiHmN g, @ "I"i£ Iprt F 13. In English alphabet, the number of
HAFT PR ® HAH B3 T SPER Hl letters skipped in between
9 T d FH Bl S %, adjacent letters in the series is
frafofag afmt § aF-@ 9 e decreased by one. Which of the
T IS B & 7 following series observes the rule ?
1) DJOTV 1) DJOTV
2) DJOSV 2) DJOSV
3) DJOSW 3) DJOSW
4) DIOSU 4) DIOSU

14, x-3%, y-3& T 4x+3y =12 G 74. The radius of the circumcircle of
e %f‘ﬂ\_rf ® CBIEE! P B T the triangle made by x-axis, y-axis

and 4x+3y =12 is:

1) 2 @ 1) 2 unit
2) 2.5 3HE 2) 2.5 unit
3) 3 TR 3) 3unit
4) 4 TR 4) 4 unit

75. I8 999 BlKl 91 9 Zﬁﬁm, fora 15. Find the least number which must
15463 # Sies WX U %A 107 9 be added to 15463 so that the
T‘W frefora & o ® resulting number is exactly

divisible by 107 :

1) 52 1) 52
2) 88 2) 55
3) Tl 3) 71
4) 76 4) 16

[ Level-3/1310]
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16.

11.

18.

19.

= |V

UMl H g H E g H PRt
ST ST 6 uT O b R g W
o W 20% & A B ?
1) 1:5 2) 2:8
3 3:5 4) 4:8

e FfiEd R @1 4% affe W W
2 99 % QT ThafE S Ud ER
S FH YT 8

1) 52:51
2) 52:50
3) 51:50
4) 53:50

%Ti%A,BaaTc?r%:

W |

ogua & el T Th AR R
R 4 e ggEg A A ST O &
50% e fan At af & o= H Fa
21,600 YA H AN A &, ol 9
T Y B R B

1) 2,400 &9

2) 3,600 &G

3) 4,000 &G

4) 4,200 R

Uh A 20% Y 9 Th & i
SO B, A I I & 12 TW@
AiYe | o=, df IH 10% B AT
BITl 3 a%g H HY YA ©

1) 22 &1

2) 30 T

3) 36 T

4) 40 1

[ Level-3/1310]

16.

11.

18.

19.

GET IT ON
Google Play

[21/A]

What proportion of water must be
added to milk to gain 20% by
selling it at the cost price ?

1) 1:5 2) 2:5

3) 3:5 4) 4:5

The ratio of compound interest and
simple interest on a certain sum at
the rate of 4% per annum for 2
yearsis:

1) 52:51

2) 52:50

3) 51:50

4) 53:50

If A, B and C enter into a
partnership with shares in the ratio

7.4.5 After

2°3'5
increase his share by 50%. If the
total profit at the end of one year
be Rs. 21,600, then B's share in the
profitis:

1) Rs. 2,400

2) Rs. 3,600

3) Rs. 4,000

4) Rs. 4,200

4 months, A

A man sold an article at a loss of
20%. If he sells the article for Rs. 12
more, he would have gained 10%.
The cost price of an article is :

1) Rs.22
2) Rs. 30
3) Rs. 36
4) Rs. 40

P.T.O.
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[22/A]
Y%, % =
80. a1+_aa +11—+a\/g S
1) ﬁ
5 21
y L
4) %
81. Qe Ma G owared @
1) o R
2) FHoEe o |
3) IR P &

82.

83.

SR ECSIRESI

fhe BRAE 9 T, 2023 H AN
TS %l B [T ?

1) w9 o

2) eaiy [HeE
3) Iy R

4) Wifed

Ao & efated Togaen H 9
P oE W TH SR & ?

1) o gHdiRK

2) 4 JIwR g S

3) 4t sl ST W

4) & gL e geariern

[ Level-3/1310]

80.

8l1.

82.

83.

GET IT ON
Google Play

Ve —Va

al/zltaa_ +11__|_é:/g is equal to :

1) ﬁ

5 21

» L

4) %

ﬂistorical village Sugh is located

in:
1) Ambala district

2) Kurukshetra district
3) Yamunanagar district

4) Panchkula district

Which Haryanvi conquered Mount
Elbrus in August, 2023 ?

1) Sandeep Bishnoi
2) Rohtash Bishnoi
3) Ajay Khichad

4) Mohit

Who among the following Governors
of Haryana was an ICS officer ?

1) Shri Dharma Vir

2) Shri Muzaffar Hussain Burney
3) Shri Hari Anand Barari

4) Shri Surjit Singh Sandhawalia
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84

85.

86.

81.

= |V

. AEERE WU S G 0 g0 §
1) <9 ¥ 2) Parm ¥
3) g H 4) ead H
Mar S T9RE 9 A9 § "R
S 8 ?
1) s 3§ 2) AELY ¥
3) oM@ d§  4) o H

qg FeeeEE & gx H e
B @l T :

() 9E G & R )
(i) I8 TH TR 9
Gehierd @I, S GarE & &9 § B

7& HE F TIT BN :

1) 399 HIT (i) TEI 2

2) Had B (ii) eI 2

3) T A FAT (i) M A & BT (i)
T B

4) I FAF (i) R (i) T 2

[ Level-3/1310]

84.

85.

86.

81.

GET IT ON
Google Play

[23/A]

The evidence of Stupa of Mauryan
period is found at :

1) Topara 2) Bhiwani

3) Thanesar 4) Rohtak

Geeta  Jayanti Samaroh is
celebrated in the month of :

1) Kartik 2) Margshirsh

3) Ashvin 4) Shravana
Who is the Chief Commissioner of

Haryana  Right to Service

Commission ?

1) ShriT. C. Gupta

2) Shri Vijay Vardhan
3) Shri Rajesh Khullar
4) Shri Vikas Gupta

Read the following statements
about Sadhu Nischal Das :

(i) He was a Dadu's disciple.

(ii) He compiled a book 'Vichar
Sagar' which is in form of
dialogue.

Choose the correct code :
1) Only statement (i) is correct.
2) Only statement (ii) is correct.

3) Neither
statement (ii) are correct.

statement (i) nor

4) Both the statements (i) and (ii)
are correct.

P.T.O.
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[24/A]
88. =RAMT ¥ RGN WoW dx FEl R 88. In Haryana, where the Chinkara
g7 Breeding Centre is located ?
1) feR 1) Pinjore
2) qEIUd 2) Panipat
3) #EX 3) Jhajjar
4) TyEm 4) Bhiwani
89. BRIMM T Hedhrl ?ﬁ Td I 89. When the Haryana State Co-
foere arE o #t ®AT &9 ? operative Agriculture and Rural
Development Board Ltd. was
established ?
1) S¥adl, 1967 1) January, 1967
2) WY, 1966 2) November, 1966
3) A, 1980 3) March, 1980
4) SVEdl, 1996 4) January, 1996

90. =Emm # Ardl™ SChll MEnfen 90. Where in Haryana, the Indian

HEI el R B 7 Institute of Information Technology
is located ?

1) dHEa 1) Sonipat

2) qHIud 2) Panipat

3) ST 3) Ambala

4) FHEA 4) Kurukshetra

[ Level-3/1310]
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e fasi / HOME SCIENCE
fraer : fefofad gl & SR 39 & e @98 S fase g

Direction : Answer the following questions by selecting the most appropriate option.
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[25/A]

91. FHWRX H AHOF I H IWE B
TN g F hee § s URURS

TARAT T T Hel T & 7

1)
2)
3)

4)

T
qect
ERUK)
T

92. HeAiHT I H YA F ©

1)

2)

3)

4)

el @l W AT T ST &
w9 H qEd B

S g H TEAM BN TR

IR $ AEE—HAT Bl

Ges @l Hoagal & MeE B
& fom

R T 1 BT L 11| MRS A
F H 89 [0 &% 0% 999 &
g, 39 W UfAlhdr S &

[ Level-3/1310]

91.

92.

What is a traditional floor mat used

popularly in Kashmir, made of wool

felt known as ?

1)
2)
3)

4)

Namda

Patta

Dushaala

Chaadar

The main purpose of conducting

evaluation is:

1)

2)

3)

4)

to label children as either slow

learners or gifted.

to identify children who need

remediation.

to diagnose learning

difficulties.

to provide feed back on the
extent to which we have been
successful in imparting

education for a productive life.

P.T.O.
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93. faft= o faftEl ok wmlEl &
9o%, TER 9 7 @@, aR a9 T
g 9w & SR d 9% B SEN
BT ©

1) T@rA d

2) hegaal A H
3) RE H

4) yel H

94. I8 (RS R 1 & Rrad AT
q WA, BT IO I, FEET ZHEA
eadlos 499 & HIeH 8 0 R 9
TR MR & et TF ied S
IoT g BN AT HA & 7

1) G
2) UfHIESeN

3) Sifedar

4) e

[ Level-3/1310]

93.

94.

GET IT ON
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The usage of different

communication methods and

materials such as meetings, tours,
news-paper articles, leaflets about

one themeisin:

1) Movie

2) Puppet show

3) Campaign

4) Exhibition

What is the chemical process

through which simple, low-weight

monomer units join end to end

through covalent bonding to form a

complex high-weight polymer ?

1) Synthesis

2) Polymerisation

3) Complexity

4) Bonding
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95

96.

97.

. T e & #1F ©

1) foemem om & el ok a9
% Qe I9C @

2) 9T X UIgIshH Y I

3) UUH S=d Hl HEH dH &HAT B
STHET BT

4) IWF a4l
1§ @ ®9-a1 %09 g R ?

1) @EE Ty gl
2) GEEA H Y FE B

3) GaEAl & TAN F oA H qlent
T & 8

4) IWF a4l

fefofag & @ s9-01 o ore
Sudfey Te i fadwar 7@ 2 ?

1) faeaEsiaan
2) feqeran
3) ST

4) e

[ Level-3/1310]

95.

96.

91.

GET IT ON
Google Play

[27/A]

The duties of a teacher is/are :

1) Maintain regularity and

punctuality in attending school.
2) Complete curriculum in time.

3) Assess the learning ability of
each child.

4) All of the above

Which of the following is the correct

statement ?
1) Resources are useful.

2) Resources are unlimited in
supply.
3) Resources can never be used

in several ways.

4) All of the above

Which of the following is not a

characteristic of a good

achievement test ?
1) Reliability

2) Objectivity

3) Ambiguity

4) Validity

P.T.O.
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[28/A]
98. o7 IFT FH GEY T :
1) TN & FH 9
2) TSN & FH 4

99.

100.

3) U U T A
4) o™ 4 & FH |

eﬂﬁo@oﬁo@owaﬁaﬂm
JEN I © -

1) T® SER, T AR @A
frem

2) WA S AR ABor

3) Py, WA dE AR
SR e
4) 1) 3T 3) I

Thd URAR SH  tfdanied, -
&1 A1 fear deet o @ @ ©

1) @ikHds T TRaR
2) T IRAR

3) THA Al qRar
4) HEHIRAT

[ Level-3/1310]

98.

99.

100.

GET IT ON
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Goitre is related to :

1) Protein deficiency

2) lodine deficiency

3) Amino Acids deficiency

4) Vitamin 'C' deficiency

ICDS provides a package of

services which includes :

1) Supplementary feeding,

nutrition and health education

2) Health check up and life

insurance

3) Immunization, health check

ups and non formal education

4) both 1) and 3)

A nuclear family with one or more
unmarried, separated or widowed

relatives live together is :

1) Supplemented nuclear family
2) Nuclear family

3) Single person family

4) Cooperation
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101. dg fowM & iR #AiWREl W
=T ggen fadva €
1) TaeIa See
2) STEE /AgaTaEn
3) o s

4) TSGR

102. Tigd R @WAYM HN dl e
& fafes faeifee @ efasgwar © ¢

1) 400 3TEoYo/RA
2) 500 agogo /R
3) 600 gogo /R
4) 675 3Rogo/fA

103. e Jo AR I€ F 9gH HeEe ©

1) AEFE dd
2) T AN TG
3) 1) 3R 2)a
4) FASTHA Ao

[ Level-3/1310]

101.

102.

103.

GET IT ON
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[29/A]

Rapid growth rate and muscle

control are the characteristics of :
1) Neonatal stage

2) Infancy stage

3) Early childhood

4) Late childhood

Per day requirement of Vitamin D in

pregnant and lactating woman is :
1) 400IU/day
2) 500IU/day
3) 600 IU/day

4) 675 IU/day

Adulterant used in Edible oils and

Fats:

1) Arsenicoil

2) Nitrates & Nitrites
3) Both 1) & 2)

4) Argemone oil

P.T.O.
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104. T8 HF-8l Afe® BH1 & S Rig
% T B 8- § 8 WKl § 7

1) A
2) @i
3) gt
4) WEH T RuwE
105. %3 TMEE WA & JER, HeH H

gl @l fea |fdT et &
e ?

1) 6-11
2) 2-3
3) 3-5

4) 2-4

106. UiferX aeell & dAgkssd e
a8 Bed 3 7 @1 @ TR @
FEIR & AR T & BER & e
dF & FAAIKR B

1) UleiHRIESIeN

2) HRpISH

3) PreeamT o
4) TR%E o
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104. Which reflex is elicited by gently

105.

106.

touching the infant's cheek ?
1) Moro

2) Rooting

3) Babbling

4) Primary circular reaction

According to food guide Pyramid,
food servings of Vegetables should
be:

1) 6-11
2) 2-3
3) 3-5

4) 2-4

Regions with random arrangements
of Polymer chains in which they are
neither parallel to each other nor to

the fibre's longitudinal axis is ........ .
1) Polymerisation

2) Morphology

3) Crystalline regions

4) Amorphous regions
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107. 99 Q9% & = 9 aFl di% 93T,
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1) e fesme
2) SHIvERE Jad
3) SR Sote
4) fee <4

108. 7= & @ F9-A1 i< a©@ W F
7o B # FANT B © °

1) T o

2) Udhdd o<
3) UREH e
4) S qft

109, ..o....... TR AR, faa o @A
g & daeW 9 MR 8l &
Yot &8 & Th 8¢ & SET b
feoTe &I oIt 2

1) A
2) JFHES
3) Ifel
4) W
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When structure, decoration and
accessories are almost identical on
both sides from the centre of the

dress, it is called :

1) Haphazard design
2) Informal balance
3) Formal balance

4) Split balance

Which of the following reagents are
used for removing stains from

clothes ?

1) Bleaching reagents
2) Alkaline reagents
3) Acidic reagents

4) All of the above

The ........... weave is produced by
the combination of plain, twill and
satin weaves, where designs are

created using a set of pattern cards.
1) Even
2) Jacquard
3) Dobby
4) Pile
P.T.O.
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110. T Hidd @ SFeERd a1 S 110. The awareness of passage of time
-G a1 st 9 faw A Gﬁ“iﬁf e or the sense of its passing slowly or
el ST R quickly is known as ............ .
1) TIASE T 1) Psychological time
2) W9 T 2) Biological time
3) Eml q9Y 3) Leisure time
4) Y 9l 999 4) Resttime

111. BEsSY o &9 & 91, a9 ol u=t 4 111. Fibers obtained from seed hair,

oI &I %, gg ST Sl B ¢ stem and leaves are known as:
1) wiC BB 1) Plant fibres
2) UTHHT HEaX 2) Animal fibres
3) MRA ®EX 3) Mineral fibres
4) IUUFT gl 4) All of the above
112. &9 &R 2, i 8 AT .......... 112. Time is fleeting, limited and ............
qMa 9T g human resource.
1) aqd 1) intangible
2) s&iaeely 2) transferable
3) Iﬁ 3) tangible
4) A™EH 4) easy

[ Level-3/1310]
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1) feeiftEr, €Rm ok feea
2) SERET, T X feed

3) fewiifan, dfafre ok feeiw
4) 3mERE, dfaRre R feetg

Fret & & SiF-a1 fawwes $8 @
JIEHEE § qEw@q &

1) Sfiad dreft # g
2) 9RER & B
3) HmISTh TYE ST
4) I[N a4l
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DPT stands for :

1) Diphtheria, Pertussis and Tetanus
2) Diarrhea, Pertussis and Tetanus
3) Diphtheria, Polycyst and Tetanus

4) Diarrhea, Polycyst and Tetanus

Which of the following is an

important developmental task of

Early Adulthood ?

1) Selection of life partner

2) Starting a family

3) Making social group

4) All of the above

One gram of fat supplies ............

calories of energy.
1) 9
2) 8
3) 1

4) 6

P.T.O.
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116, .ovenn.... 7 fhdl A &l RS q19
AR 3% e IR foem #Ame &
G T M 8

1) Yol g
2) HISAH

3) HafHfy

4) SRR ffher

117, e it iR o @1 99
& e SEM #= 91| @ ag A
SMedl % SUAT % WU AN H
TEe @ [ 6T ST &

1) S T
2) W WIS
3) WE GO

4) G THER

118. QYT frem & @l fafeer & -

1) e e AR @9 ==

2) Usei oiR wesH
3) WX 3R =i
4) IWF a4l
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involves the physical

measurement of an individual and

relating them to growth and

development standards.
1) Blood test

2) Cardiogram

3) Anthropometry

4) Diet therapy

............ is the set of methods and
techniques used to transform raw
ingredients into food for

consumption by humans or animals.
1) Meal Planning

2) Food Storage

3) Food Preservation

4) Food Processing

Methods of imparting Nutrition

Education are :

1) Personal talks and group

discussions
2) Exhibitions and demonstrations
3) Posters and charts

4) All of the above
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119. 999 & RS HET 7 iy @

1) ot &

2) Sl fefesw

3) MiRe® ufearet & s ok
RN &l Gl

4) IWF a4l

120. EHGRE, AgRar &R dEdgha
e e 8 °

1) &g d9e g

2) I FEN

3) "YAE

4) B

121. I8 Yikal REH &9 & %ol H 9§
fFreprer @ foT SR @i & | oma
S R

1) ST
2) T
3) Rufei
4)
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Physiological functions of food

includes :

1) Energy giving

2) Body building

3) Regulation of body processes

and protection

4) All of the above

Glycosuria, Pentosuria and

Lactosuria are the symptoms of :
1) Cardiac problems

2) Hypertension

3) Diabetes

4) Constipation

A process called ........... is carried
out by passing the stems through
threshing machines to remove the

seed pods.

1) Breaking
2) Washing
3) Rippling

4) Retting

P.T.O.
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122. YRR & SEHN A AR Rifed

123.

RTE U % J9 &0 ¢ :

1) BT g %l TIHIA &

2) BT T HUAEY T U

3) e T W Te FUHY THIH
e

4) W AF Rregd T oW T

HYAEY TH U
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Giving information and educating

the community is a feature of ......... .

1) Health education

2) Development communication

3) Defence policy

4) Economic policy

Full form of RTE Actis:

1) Right to Free Education Act

2) Right to Compulsory Education

Act

3) Right to Free and Compensatory

Education Act

4) Right of Children to Free and

Compulsory Education Act
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125.

126.

F AT HIIAHT ST
Trecilg & st &1 faEr R

1) aread
2) R
3) WS

4) IFFEE

TEER, Ao foe B
1) geXfeed Hifear @
2) e Hifsan =

3) TERY Hifedw &

4) IWF a4l

IR, HH! b A A H e A |
ged 8 °?

1) TS g WY @ A
2) T g, GErm SR @Y | 41
3) Reads @ BrlM | &/ 9% 8l

2l
4) IWF a4l
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theory of operant

conditioning is an extension of

theories of Pavlov.
1) Watson's

2) Skinner's

3) Freud's

4) Ebbinghau's

Newspapers, Magazines are part of :
1) Interactive media

2) Print media

3) Broadcast media

4) All of the above

Tea, Coffee stains can be removed

by which of the following methods ?

1) Fresh stains can be removed

by soap and water.

2) Hot water, suhaga and soap

can be used.

3) Soaking in glycerine will help

in removing the stain.
4) All of the above

P.T.O.
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127. @9 X TG B ATT B oo
Hed 2

4) &=

128. B GHE AR B W & oG 8
A SR IWN T8 AR Hear 2

1) ST
2) HuRa
3) HMd §HEd

4) fasamg

129. g8 U @A WA Hagasiaar s
Sl B

1) hal
2) Hifeas T
3) duf®

4) AT
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A plan for spending and saving is

termed as............. .

1) Household account

2) Household record

3) Budget

4) Interest

Some resources become a part of
an individual and can only be used

by that person. Such resources are

called............ .

1) intimate

2) belongings

3) human resources

4) faith

Disease in which gluten sensitivity

is found :

1) Scurvy

2) Celiac disease
3) Tuberculosis

4) Ulcer
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130. FSSAI (THoTHoTHoUodNEo) & o7
L
1) A @@ O T A
SerR YT
2) WA @rE G U g gy
3) WRAE WE YT U HES
ofeERTeT

4) RGN QE G U9 qM% 99

131. & & 9FR oEA & U REER
ferafee &

1) fafE-u
2) faerie-4i
3) -8
4) T

132. IS & YO A AH-SiET B
TR TN B T RHE-AT RS
ST foham S & 7

1) fhvad

2) A5

3) @ad 1)

4) 1)aX2) IFf
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130. FSSAI stands for:

131.

132.

1) Food Safety and Standards
Authority of India

2) Food Safety and Security

Association of India

3) Food Security and Standards
Authority of India

4) Food Safety and Standards

Association of India

Which Vitamin is responsible for

blood clotting ?
1) Vitamin-A
2) Vitamin-B
3) Vitamin-E

4) Vitamin-K

Which chemicals are added to
improve eating quality or shelf life

of food ?

1) Fermentation
2) Additives

3) Only 1)

4) Both 1) and 2)

P.T.O.
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133

134.

135.

. HF-G G W% ad T&HT B 2

MR 9 R fawmshia s= 3 9=
AU & SR Y& BT § °

1) T
2) fewEr
3) TSI
4) TS (<re)

Jq9 H g8 UoieE e g @
o o1 W Ted RwE 39 2

1) GE= Qi
2) afehd QN
3) s qSiies
4) SRR

A i e Ifed & ger
Sl ot gee i e el ©

1) gda
2) T
3) H Wi [

4) YT
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Which structure provides nutrients
and wastes are exchanged between

the mother and the developing child ?
1) The uterus

2) The fallopian tube

3) The ovary

4) The placenta

The position of the baby that would
cover the buttocks or feet to be

delivered first is :

1) Normal position
2) Vertical position
3) Breech position

4) Hypoxia

Motor skills that involve more finely
tuned movements, such as finger

dexterity :

1) Sensation

2) Movement

3) Fine motor skills

4) Shivering
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136. BCC % A &M :
1) SRR == Hrgfibe

2) fRfR, Fgf@ae t= fuee

3) fRfemy, e UTs HYHDBIN

4) fRfEEY IS HRYeH

137. el fA99 qe, fomm, i a1 SHeR
B A F gHAN R T @ R
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1) u&fd

2) w89
3) WO
4) UTEABH

138. UEqI9a foET & gE7 AW @ ¢

1) W P
2) frifereber gieepror
3) MDA HSISIAT
4) {ebiet st
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Full form of BCC :

1) Behaviour Change Communi-

cation

2) Behaviour, Communication

and Creation

3) Behaviour, Control and

Communi-cation

4) Behaviour Challenge Communi-

cation

The act of explaining and

persuading on behalf of a particular,
issue, idea, person or animal is

called :

1) Presentation
2) Discussion
3) Lecture

4) Advocacy

The other name for Pavlovian

theoryis:

1) Operant conditioning
2) Clinical approach

3) Classical conditioning

4) Recall theory

P.T.O.
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Which of the following statement is
correct ?

1) A teacher should be actively
involved in taking private
tutions otherwise children will

not pass the exam.

2) Inflicting corporal punishment
on children is necessary for
maintaining discipline.

should
always be done in class and
school.

3) Social discrimination

4) No teacher should engage in
gender and social

discrimination in the class.

............... , 1s a professionally

managed  investment scheme,

usually run by an  asset
management company that brings
together a group of people and
invests their money in stocks, bonds

and other security.

1) Real estate

2) Fixed deposits

3) Shares

4) Mutual funds
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2) GarEH
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........... is certain amount of energy
required for maintaining natural

body process.

1) Kilo calorie

2) Resting metabolism
3) Both 1) and 2)

4) None of the above

The colour scheme where colours
are adjacent to each other on the

colour chart :

1) Monochromatic colour scheme
2) Analogous colour scheme

3) Complementary colour scheme

4) Triad colour scheme

............ are the means for satisfying

our needs and reaching our goals.

1) Schools
2) Resources
3) Jobs

4) None of the above

P.T.O.
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145.
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144. SEWA is involved in which of the

145.

146.

following ?

1) Help women earn living
through their own labour

2) Help women participate in

village level institutions

3) Economic empowerment of

women

4) All of the above

Underweight is a condition when
the body weight is ............ less
than the average expected for

one's height, age and sex.
1) 5to10%

2) Tto8%

3) 10to 20%

4) None of the above

PICAis:

1) A brain disorder
2) An eating disorder
3) Arenal disorder

4) Zinc deficiency
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4) S HE N
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The attachment of the child to the

parent of the opposite sex,

accompanied by envious feelings

towards the parent of same sex is:
1) Nazrcissistic behaviour

2) Oedipus complex

3) Homosexual stage

4) Heterosexual stage

Energy expenditure of the body at
rest in the post absorptive state is

called :

1) Basal Maintenance Rate
2) Basal Metabolic Rate

3) Broad Metabolic Rate

4) Body Mass Rate

Fat soluble vitamins are :
1) A,D,EK
2) A,CK,D
3) D,EKC

4) B,D,K,E
P.T.O.
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From ovulation to implantation

takes about :

1) 7to9days
2) 10to 15 days
3) 15to 30days

4) 30 to 35 days

[ Level-3/1310]
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twice. Cases where a candidate has not signed the Signature Chart second time will be deemed not to have handed over the
Answer Sheet and dealt with as an unfair means case. All candidates have to affix left hand thumb impression on the OMR
answer sheet at the place specified which should be properly inked i.e. they should not be either over inked or dried in
nature.

11. s@a@*‘rﬁm/mﬁﬁ UReheih 1 SUANT AT 81 / Use of Electronic/Manual Calculator is prohibited.

18. YN & 7 RV & [, v Rerem # & ® ubk/Ren-Few @ 9% & @9 e @ R @ RS e @ ogRa aner &
ol AR # e 9% 3wt o e @ FEAR 8Tl / The candidates are governed by Guidelines/Procedure given in the
Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations of the Board.

19. el e & QQ:T—W AN TR TF H Eh:fg AT ST 7 & (No part of the Question Booklet and Answer Sheet shall be detached
under any circumstances.

20. TOET @O BN W, ol e/ Bie § U4 IR TS Fe-Tdawd B ofaed A 31 ond oTR | 36 Ue-gRaE @ & o we
% /on completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the Room/Hall. The candidates
are allowed to take away this Question Booklet with them.
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